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R 1 E<A #H=H 95 = ! =5RF O<A = 98 m !
ELtRawd 2 GTA H=F 95 = | ELXRad I:F'l C<A BZF 91 = !
ELREH 1 F<A B 94 ! ELRAHR 3 HTA BF 98 = |
=35=RP 3 RTA &% 95 m ! BRARP 2 N<A & 96!
paes 3 JTA H=E 96 = ! RHFeh B3 KTA EFE 96m!
RHE=EH 2 C<A =EH 98 m ! ELRAHR 3 JTA #HH 99m!
ELtRaw® 2 LA EE 98 ! =5=RP 3 V<A HEF 100!
Bs#sh 2 QKA IR 92 ! s 3 D<A HH 92!
EtLRaeH 1 VKA #H=H 94 1 | BRA LR 1 E<A #H 91!
BEA R 3 GKA #H=H 90 = ! EXRa® 2 1TA R 9=/
Bssh 2 N<A HF 92! RHEEH B2 U<A B ORI
ELREeH 2 S<A HE# 98 ! ELXRad 1 H<KA ZEFE 97Tm!
RH=EP 2 BTA H=H 96 s ! BRA LR 2 A<A ZEFE 92m:!
Bsash B2 S<A EFE 95 = ! EXRaF 1 T<A HF 94 = |
ELtRawd 3 F<CA HBEF 91 ! RHFeEH 2 W<A R 96m!
=F5ERHP 3 QT A B 94 /1 | B 2 T<A & 96m!
Bs#h 2 O<A EFE 100! =FERF B3 STA EFE 94!
KRR 1 K<A ZER 98 m ! =35 2 E<A HBEF 92!
=35 2 KA EE 92 ! RHF 3 LETA R 98m!
=35 1l XTA wH= 92 ! BRARF 2 ZTA BHF 91!
ELREeH 1 GKA HF 92 ! ELXRAeH B2 P<A ®KF 100!
ELREeH 1 W<A IR 99 m! Bsa#h 3 C<A HF 97 = !
=35=RP 3 K<A HF 94 /| BRA R 1l ATA ZHEE 9T/
BEA R 2 BL{A #H=H 99 == ! RHERF 2 AZTA BOITR!
ELRawd 3 PTA B 91! =35=RP B3 UZTA Eﬂ 105 = !
R 1 H<A #HZF 100! EXRaeH 3 E<A B O9Ix!
BEA R F3 X<A #HH 92 m ! EXRa® B2 R<A 9&3.1:‘ 95 m !
faf B2 X<A B 91 ! RH 1 J<KA = 100!
AHH 1 IKA EFEE 93 m ! fafgh 2 Y<A HFE 93=m!
B 2 M<A B 90 =1 ! ELXRad B2 FETA EE 95 m !
Bsash 2 P<LA #H=H 94 m | EXREeF 1 UKA ZEFE 9=/
ELRaH 1 D<A EFE 99 m ! RHPEH 2 V<A HBEF 91m!
ELtRawd B2 HTA £ 90 = ! KR 1l GKA B OITR!
BEA R 1 BTA H= 95 = ! ELXRad 2 O<KA B O93m!
=5 h3 A<A #H=H 92 ! =FEH b3 TTA #HE 99!
Bs#h 2 R<A HBF 95 m ! BRA R Rl ZEA BEF 91=!
BEA R 1l YEA B 97 m ! RHPEH B2 Z<A HEFE  90m!
=FERHP F3 LKA #H=H 99 = ! ELRAHR B3 ITA B %R
KR 11 D<A ®=F 92 ! =5 2 JETA BEFE 94 2 |
ELREeH 2 DTA IR 98 s ! RHe B3 ITA & 100!
=35®P 3 M<A HBEF 95 m ! RH 1 F<A R 91 m !
ELtRaw® 2 CTA ®=E 90 = ! RH=EH 3 Y<A wH=& 95 m !
=35H 3 B<LKA HEHE 90 = ! BEARE 2 M<A HEE 0 92m!
BRA R 3 W<A HF 95 = ! =FEF B3 N<A ZEFE 94!
BRA R 2 ATA 58 431:) BRA LR 1 W<A 58 400!
=FERHP 3 KTA 58 487m=:! =F5=RP 3 J<A 58 470=!
Bssh F3 C<A 58 441:! =55 3 F<A 58 406m!
EtXREH 1 X<A 58 456/ BRA R 2 Q<A 58 427=!
BRA R 3 L<A 58 428! =%5rh 2 OTA 58 413!
ELtRaH 2 MTA 58 438sm:) RHHF 2 B<A 58 406!
ELtRawd F3 E<A 58 416m:! BRARF 2 B<A 58 443m!
ELRawd 2 PTA 58 413:! BEARE 3 G<A 58 415!
=5®HP Hh3  I<A 58 448! RHF 1 F<A 58 488!
RH=RP 2 DETA 58 451:) ELXREF 3 HETA 58 466!
KRR 1 E<A 58 434:) RHF B3 YEA 58 478!
B 2 Z<n 58 468:! BRARH 1 UETA 58 465=!
ELtRawd 1 V<A 58 4457 ELXRad 3 DTA 58 408!
=5 3 BL<A 58 44171 Bs#h 2 A<A 58 435 =
EtrRad 2 R<A 58 470:! EXRaH 1 S<A 58 472
BEA R 3 A<A 58 4241 ELXRad 2 NETA 58 464!

=35 1 T<A 58 405=! fafgh 2 C<A 58 432=:!



	スライド 1
	スライド 2

